W

CHIE
B — (BB RE & Wy — IR R
br o BREERAZERKEBINME - £
B PR BV ER AR - BR TR R PR A SR HI B
ZAh s WHEANEW S HEBE Sy - R
¥ 235 9VfE 5 HIETEA - i%m
EHENY > FAHFEERREHE  FH
HREEREHEL T H - KHAEBH - ZH]
HIRA R > Bl40 - 275 B A SRFIT 27 H
WA VB S 1522 HE 22 & 11 #Yf%
B FTDL 275 By 11 AUf5 8 SLEI40 - 403
BE 3BET 400 HiN k4 569 315 52
RFy 52 Ky 13 BUfE% » ArLL 403 5 13 (Y
B8 FEHBEAFET L 0 5IEERE - M
BE - REANSRE  HZ24EE
SEHFSBRZRERERENER S
BYELMIREEE - BB KEE A
PREGH B VTR E T - HHE RS
AT RE HUER Y & R R o (HF A R
AT R — e N - FEWE - 2
B A DLEEUETHREEE) 0 ST
IrEEEEREY EET - BRI E RS 0 2K
HE R By B R o SR AT S B £ 4R

QR E= I

* Ry A S AR AE

2

2t

B T REM
ERUGRERPE
BUEBAEAR BB

e LIRSS SRR 0 WH T —
SR AL - HERLERESH) -

& - ?ﬁﬁiE%

— -~ BB TR SRS S E R

- BEAR S 7 [E AR -

R m EERAIRLE -

~ B0k [E] B Y E A S

M E R ESHRAE 34789
11~ 13~25~ 101 BYFH] -

|l

HE

"

F BBEE

- L AAREA i s PR

1
NSl 52 REETERE - KPR 2 R A
B2k Ko HETHT-Q K~A>
SRR 1~ 12 13~ 1 HERfiR
WIRRTE Z B > 2R 1R R R 3 PR Z R

CBR 2 BLEEPRARE > m& o R

TR 3 PRz 8k 1~ BF 2 BLEEER
B Mg BB 4R B T o — B - (BE2P BB R 3
ETHAENTE - AT EIELE <)

T2

HANEE — (L 2 AR (B - P SR AE R

SAEB) EalE  Raif LT

"EFr?xh



T Ak F S Flic

R > RIR R R S RS A R - R
M AE RIS =550 AT E
FiR o XTFNE > A RFTEE 2 A
B o W EHERAE VRTINS R AT -

(1) FAZEES
(2) WEEREIEE =
(3) FKEEHE

S 3
BEi B EEAT B BRI 10
Doy FIEET » HEG > ATLLE
ERME - W HTTRL B A - AT DURE IS 0
15 0 BB AT AT 5 0 FAT S R
Hfx BHAY 3 R - T EET
HHY 3 RBETRE » AL - WK H
EREVEE DT R Y — 55 -

T4
BEEE AR TP EREZE - K7
AH U AT RAE BARAT  (REE A P aA
2 8 fE(DF(3)E B I
REHTIRE 1 REE > I &E&
EHZMAELLS "TOORBERE
AR
B0 - prEE A E TR Ry 7238 1% o
EEASEE 7 H - BETRIE (DB
(3)> HEEMEIQ)  FEZREGEN)
HINLE > P23 - B2AEsE U 3 0 - FHl
TEREE Y (2) B » B 1% 1% B R (DAY AL
B OERAHED 8 o HAT AL
Q)R - REIEEROGWILE -

TERS:

HELER 3 VR 4 BARGE —

BRAVGE R - Bl o] DAL - 45224 —
S IE T SRR EE o WAL - B
[ B A MBE A - B o] B R S i Y 458 1 TR
°

>PEEMRB 1 FiRF 12 13 FYIERE - K
e 3 PR ZHYEREL T R 3 HH -

RS 3 S R S8
Ak

W6 BT HME :
(1) 23BRDATHIRS S Ry BRE R -
(2) 6FRLATHIRE Ry __ BRIy -
(3) -9OFBRLLTHIRE By BREURy_ -

WER T BENGIEEE - R 01,22,
£3,..,#0,... 0 KERDL 7 BVEREL - M
BT

7HIESL] > 215 <145 7 0 75 14521,
TIMER o0, 3.6 iqioge1se 2
i1 P
79%%;%& =190 212025 2 916> 23...
75;[{%;%(181143 10175 24...
7'3%%;%& 2 =175-10> -3 4 1> 18 25...
79%%;%& 16029 2 5 12719+ 26...
75;[{%;%( o155 85 -1 6 135205 27...

HEAHATE - B THE 00 1
203245556 rEBZEE &
I EMEEMBEEHEEEE 7 G




PEXRT A $33H ¢ EAF 103 £ 10

B0 LG W B R T BRI Y BR B 78
EME | B 4 EHIFRy 17 - -11 THIEE T a=0 (mod7)
H7Z 28 2 7 HIEE - MW 7 BRIy THEEAN L a=1 (mod 7)
R EE Z 3 0 H R 17=7x2+43 THIEEIN 2 * a=2 (mod 7)
S11=7%(-2)+3 - THIEEN 3 a=3 (mod 7)
PREERE 2 HB ERFE S I THIEEIN 4 a=4 (mod 7)
Y1725 HAERAE 7T WEE? TN S ¢ a=5 (mod 7)
T 7 BRVEREE B HE ? THIEEIN 6 ¢ a=6 (mod 7)
T 8 WA EIEGRVERE - 28 7
HYAE— 50 (T W R B =
= 7THIEE - B 7 BRATEEREE
BN &S] Rl R0 10203
40506 MEZ » BBWIIAVEER
PL 7 # RIS E0AH [E] R 8 B2 Bk
TE— Ry TR o b H
5 7 [E&k > BfFa=b (mod 7) IE{E
a~b ¥ 7 [Egx e Fl41: ~11=17 (mod
7)> —=17=25 (mod7); &R 9~ 23 ¥
5 7 [El &R 5 25~ 18 B 7 2 [F6R -
>REEMEB 3 BB NYI&/NEF - IEHE
HEACO” ~ $EERIE A XY -
(1) 330=1 (mod 7)......( )
(2) 332=3 (mod 7)......( )
(3) 334=5 (mod 7)......( )
(4) 336=6 (mod 7).....( )
W9 B o BRI T 5 EHHE ER B

ol SRR S T "$ o Efeom b
Aok 2 BE

W RVEE AN 2 S o &
% a W] o BIR AR B L a8
B © a=0(mod 2)
8 0 a=1(mod 2)

W12 {REH N BAE3IME > &
Boa\oRE 3B
3HIMEE : a=0 (mod 3)
3HIMEEIN 1 a=1 (mod 3)
3HIfEEIN 2 0 a=2 (mod 3)

PREE®REB 4 SIS E L K
B a¥H Sk sSHE-

SR 13: H-WIERE miis > B a
Aoy R m
m G a=0 (mod m)
mEHEM 1 a=1 (mod m)

BE A — 8 > BV RDREE B 7 By o AR
D

a=0 (mod7)> a=1 (mod?7) -

a=2 (mod7)- ...... v a=6 (mod 7)

HER 10 : (L0 ER 6 B0 ER 9 AViETE > HAM

AR R a (RER DA 7 P Y 68 80 R

mAIfEEN 20 a=2 (mod m)

m W E(m-1) © a=m—1(mod m)
Hfa=b (modm) - UgfF a~ b ¥
m [E &k > Bl a~ b BREL m HYERE#FAH
Fei(a— b) Ry m I{EE - HEERIYEF



T Ak F S Flic

e T = 2FF 1801 4F = HT S0 >REE/RE 7 240 28=2 (mod 13) >

0o ANEeRstI/E " £, fla 20=7 (mod 13) » &% & T ¥ & X

31=17(mod 2) » 16 %23 (mod 2) F o oEwIEHE?

92 =15(mod 7) > 36 £18(mod 7) (1) 28420=2+7 (mod 13)
>REERB 5 FHE MYIE&/NESF - B (2) 28x20=2x7 (mod 13)

A0 ~ $HERIE A “X” - (3) 5x28=5x2 (mod 13)

(1) 91=0 (mod 13)...... () SRS H—REBE m s Hm il

(2) 123 #35 (mod 11)......( ) BRI A EENEE - E/ 0 a=b

(3) 325=8 (mod 3).....( ) (mod m) » c=d (mod m) > Hi :

(4) 128=3 (mod 7)...... ) (1) a+c=b+d (mod m)

(2) ac=bd (mod m)

BEw U R ARG A (3) ka=kb (mod m) (Fr k Fs 32 %0)
W 14 RIS o 5[ B2 LB R H CEEZ24 I EEe g - H
57 W EERZR S ¢ (FHUR(E E e s R > N EmaE <)

H a=r(mod7)> b=r,(mod7)> FH1:
(1) a+b=r+r, (mod7) P Ff'fﬁ}’f%ﬁ—‘??—ﬂz%ﬂ"ﬁ%&ﬁ_
(2) ab=nrr, (mod?7) iy FlEc b o
(3) ka=kr (mod 7) (K k Fy%e¥) 1R 16 FHhHE B e R S i 1 R B
Bl s B4 17=3 (mod 7) > 12=5 EE WNATY o DRSS A 2 AT
(mod 7) » H[ {5 : (1) 3417=3x1000+4x100+1x10+7
(1) 17+12=3+5(=1) (mod 7) =3x10° +4x10 > +1x10"' +7
(2) 17x12=3x5(=1) (mod 7) (2) a=0(mod |a|): a=0
(3) 3x17=3x3(=2) (mod 7) (3) a=0(mod 1)
(L k=3) (4) % a=b(mod m) » c=d(mod m) >
(BB EEFE R~ ry > BR T HERL Hrhom BIEES > HI :
Bk A0 [E AR HIEOH A BET A G B <) O atc=b+d(mod m) » FF57IHEHL
>REEEZB 6: .41 17=2(mod 5) 13=3 @ ac = bd (mod m)
(mod 5) » st EE NHI &+ BEIE ® ka =kb (mod m) (H.H k ByFe )
figE? FiHlE » & a"=0(mod m) » Hrf
(1) 17+13=2+3 (mod 5) m~n BIERH > Hl o™ =0 (mod
(2) 17x13=2x3 (mod 5) m)
(3) 2x17=2x2 (mod 5) >EEEHZ 8 =M 10' =10 (mod 25) >



BERT VI $373% ¢ FAE103E 107

=0 (mod 25) » HI 10° + 10" %f &
250 Syl Ry ?
LR 17 H R
= -
Bd
10=7 (mod m) >

A A 8 B m Y —

10> =10x7r =r, (mod m) > ...>
10" =10x10™" =10xr,, =r,(mod m)
S 2 fir 22
N=a,a,_,..a,aa
=a,x10"+a, ; x10"" +
+a,x10°+a, ><101+a0
=a,ta ><101+a2><102+
+a, | x10" " +a, x10"
B N=ag+a, xn+ay,xr,+...
ta, xr,_+a,xr, (modm)

Ea0+a1r1+a2r2+...

+a, r,,ta,r, (modm)
LB 18 A [FIgRAZF L INE 3 5 9 -

0' =1(mod 3 5%, 9) -
102 =10x10=1x1=1(mod 3 5 9) >
10° =10x10? =1x1=1(mod 3 = 9) -
10" =1(mod 3 & 9) »
Fr A+ #E i 8
N =a,a,_ ..a,a,a,
=ayta xl+a,x1+...
+a, x1+a,x1(mod 3 B 9)
=agtat art...
+ a,.+ a, (mod 3 E; 9)

éﬁ%ﬂ ’ % a0+a1+az+...+ a,1_1+ a, =0

(mod 3 8¢ 9) - A 389 & NHYRE -
Bi4n - 3 5 9 BA Ry 7425 By ?
(D) R A 5+2+4+7=18 =0 (mod
3) o FTLL 3 B 7425 YR -
2) " & 5+2+4+7=18 =0 (mod
9) > FTLL 9 Ky 7425 YR EL -

PREZEREB 99 EE N 83754 YR
W19 A EeREFTHRE B 11 -
0' =—1(mod 11) >
102 =10x10 = (-1)x(~1)=1(mod 11) >
10° =10x10% = (=)x1=—1(mod 11) »
10" =(-1)" (mod 11) »
Pt LA 32 {ir 8
N=a,a,_..a,a,q,
=ayta x(=D)+a, xl+a;x(-)+...
+a, x(-1)" (mod 11)
=qy-a,ta,-a;+...
+(-1)"xa,
W > ag-ay+ay-ayt..+(-1)" xa,
=0(mod 11) » Al 11 & N YR # -
B4 - 11 27 B 379246 HYRE ?
B 6-4+2-9+7-3=-1%0 (mod
11)> BT BL 11 2R By 379246 (19 R -
BEZSHRZE 10 : 11 275 & 83754 YR8 ?
R 20 FI H [E 67045 = H R B 4 AR %L 8-
(1) =LA 4
10' =2(mod 4) >
10°=10x10=2x2=4=0(mod 4) >
10°=10x10%=2x0= 0(mod 4) >

(mod 11)



T Ak F S Flic

10"=0=0(mod 4) » n=2
Pt DA 2 i 8
N=a,a,_..ayaa,
=apta;x2+a,x0+...+a,x0(mod 4)
=agt2a; (mod 4)
WD 4 apt2a,=0(mod 4) - HAIl 4 Jy
N YR -
Bl > 4 27 By 9136 1Y RIH 2
(R B 6+2x3=12 (mod 4) > FTLL 4
By 9136 HYREY -
(2) = A E 8
10' =2(mod 8) >
10°=10x10=2x2=4 (mod 8) »
10°=10x10>=2x4=8=0 (mod 8)
10"=0 (mod 8) » n=3
Fir DA+ 2 fir 8
N=a,a,_..ayaa,
=aptax2+ar x4+ a;x0+...
+a,*x0 (mod 8)
=ayt2a,+4a, (mod 8)
HHD 0 3 apt2a,+4a,=0 (mod 8) » HIf
8 B 6152 1Y KL -
Bl > 8 BT Ky 6152 AYRIH ?
By 2+2x5+4x1=16 = 0 (mod
8)  FTLL 8 Ky 6152 YN & -
>REEEE 11 : 4 Bl 8 Z & Ky 9275316 1y
R 2
WER 21 M [EeREFH A 25 -
10' =10 (mod 25) »

10> =10x10=100=0 (mod 25) >
10° =10x10* =10x0=0(mod 25) » ... >
10" = 0(mod 25) > n>2
Fit DA 3 fir 85
N=a,a,_,..a,a,ay = ay+10a; (mod 25)
A+ 5 ag+10a; =0(mod 25) » HI 25
Ry N HIRE -
fi4n - 25 275 fy 8175 YR E ?
Kl By 5+10%x7=75=0(mod 25) » Flf
DL 25 By 8175 YA # -
>REE PR 12:25 27 5 3792855 AR #?
WER 22 FIAE R EFHREE T -
10' =3(mod 7) >
10> =10x10=3x3=9=2(mod 7)
10 =10x10%> =3x2=6=—1(mod 7)
10* =10x10° =3 x(~1) = -3 (mod 7)
10° =10x10* =3x(-3) =-9=-2(mod 7)
10° =10x10° =3x(=2) = -6 =1(mod 7)
107 =10x10% =3x1=3 (mod 7) >
L i
At B agasazaza,aa
=aot3a;+2 a,-as-3as-2as+as (mod 7)
G5 N &l 7 fir > Al a, KPP
HELL 32 -15-3>-251> )%
Fl > 7 ag+3a,+2a, - a3 - 3a, - 2as+ag
=0(mod 7) » A 7 &y N (YR E -
Bl - 7 2w B 1527 R ?
By T43x2+2x5-1=22%0 (mod
7) > BTLL T R By 1527 YR E -
PREZMB 13 : 7 2 E Ry 3724 YR ?
WER 23 FIAE R EF RN 13 -



BERT VI $373% ¢ FAE103E 107

10'=-3 (mod 13)
102 =10x10 = (=3) x (-3) =9 = -4 (mod13)

10° =10x10% = (=3)x(—4) =12 = -1 (mod 13)

10* =10%x10° = (-3)x(=1)=3 (mod 13)
10° =10x10* =(-3)x3=-9 =4 (mod 13)
10® =10x10° = (=3)x4=-12=1(mod 13)
107 =10x10° = (-3)x1=-3(mod 13) »
LB AR
At DAL agasazazayaaq
=ag-3a,-4a,-azt3ast4astas (mod 13)
G NE® 7 Ala, K7
HELL-3> -4 -1>3>4-1>..)
A 0 ag-3a,-4ar,-ast3astdastag
=0 (mod 13) > HI 13 & N JE# -
Fa > 13 273 B 1768 AR ?
By 8-3x6-4x7-1=-39 =0 (mod
13) » FRBL 13 B 1768 YR -

PREEREB 14: 13 275 5 30125 1R ?
HER 24 ¢ I E G FHREE 101 -
10! =10 (mod 101)
102 =100=—1(mod 101)
10° =10x10% =10x(~1) =-10 (mod 101)
10* =10x10° =10x (~10) =—100 =1
(mod 101)
10° =10x10* =10x1=10(mod 101) - ...
o B 2R
It DL agasayaa,
=ayt+10a;-a,-10a3tay (mod 101)
GEHHEEAL S N & 5 M Ala, &7
FHELLIO -1 -10> 1> ...)

B H o 3 agt10a,-a,-10as+a, =0 (mod

101) > HI 101 5 N (YR -

4 > 101 Z 75 B 8687 HY KR # ?
BB 7+10x8-6-10x8=1%£0 (mod
101)> FiT L 101 7R B 8687 Y R 85

>REEMRE 15
(1) 101 B4 B 37572 (YR % 2
(2) 37575 B LA 101 YR8 B % /) 2

B R R i g
R

SR 25 {E 52 RPN E - KERRAKHE 3
Przer 1~ gf 2 BRIV - Hik
Oyl R 20 ~ 16 B2 16 5% > H ARk 2
gt A B2 5k Ko B 3 Bz gk 111y 4
SR 2 1% o HITIE 3 0 58 5o R 0 5 AT
FHE (16 5&) -

S 26 HEN IR AR 3 PRk 1
B 2 BUEE BRI AR B — A
R > has — L2 L e H st
L UIRE > BhEEBE RN o
fRFF— B . BIRRZER 1
1 3 bRz 6 2 B 3 PRz BBR - .o
50 L R R R A% - BT o R A
A LAY 3 SRR - BT Lk M|
3 5REETIRE - BE 3 SREESTMEAL By
THE 3 BRZER 1~ B 2 BLEEERAY S —
o o o0 BBG > FTHUGHAY 3 sRAREEAD -
PREL 3 anEe b - B ZAT 858 8oy fir
B REREZ=5 -

=R AN -



A & 35 Tl

L. S FEERAHE 3002 AEE #7 4 BFR-

s I EBREHIE 1089 REA 1 9 BE k-

i FH [F] B8R 7AFISE 1859 RE AT g 11 Bk

A P [E] B8R 0E FI 72 12901 RE 65 4 7 R Fk -

i FH [F] B8R 7AFI0E 2431 A5 1 13 Bk

i FH [E] BREFIE 8888 REM ¢ 101 %

Br -

7. FEEE—HYEESCRR R T o 5 Bl
PETCIRIE M 4 PR Z Bk 1~ 2~ 3 BARKER
Rori > BREMTES — > H LR G
R E  EBTHYXF  E24E
U A HY B (2 0 B R 4 TREESURAG
B4 MENEE—WIER - Q24
SEH R 1 SREATTHEY - BB B B
L E » GEHNRE —FIEHE 555
=5 A ?

() NNV, B VS I )

KEED L4 2

"‘g‘ﬁ——

PEEfEZE 1:
W3 EEl | 1-4~7~10- 13
B3 EE2 [2-5-8~11
# 3 g 3-6-9-12

P SR

HE6:(1)3-2 (2)0-6(3)-2-5°(0<
Bk B <BRE)

FEE®REB 2

(1) B-FHk (25- (-17))=7=42+7=6 -
(2) 2 - AREGREHE 4 -
BEEEZB 3:(1)0(2)0(3)0(4) X+

5HMEE: a=0 (mod 5)
SHfEEN 12 a=1 (mod 5)
SN 2 1 a=2 (mod 5)
S8 3 0 a=3 (mod 5)
SHIfEEIN 40 a=4 (mod 5)
BEEMEBS: (1)0OQR)XB)X4)X -

Ll
PEZ4EZ 6 : (1)IEHEQ)IEMEQG)IERE -
FEEEEB 7: (HIFHEQ)IEHQG)IEMHE -

(D B 10°=0 (mod 25) » FF LA
10°=10x10%> =10x0=0(mod 25)
(2) 10" =0 (mod 25)
EEREB 9. N 4+5+7+3+8=27 =0 (mod
9) » FTLL 9 By 83754 AR -
fEE#2 10: K & 4-5+7-3+8=11=0 (mod
11) > ATLL 11 B 83754 HYHEL -
FEZiE 11 :
(1) A B 6+2x1=8=0 (mod 4) > FLL 4
By 9275316 HYR & -
(2) K By 6+2x1+4x3=20%0 (mod 8) >
FLL 8 R By 9275316 HY R #] -
PEEHRE 12 : Ay 5+10x5=55%0 (mod
25) > FTLL 25 R By 3792855 YR 8 -
PEZEZ 13 : [Ny 4+3x2+2x7-3=21=0
(mod 7) > FITLL 7 A5 3724 B RHL -
PEERE 14: A fy 5-3x2-4x1-0+3x3=4%0
(mod 13)> BT DL 13 R B 30125 (YA 8



PEXRT A $33H ¢ EAF 103 £ 10

PEZMRE 15
(1) R B 2+10x7-5-10x7+3 =0 (mod
101) > LA 101 F 37572 B9 R 8 -
(2) BRELS 3 -
P S
1. WA10' =2 (mod 4) >
102 =2x2=4=0(mod4) >
FIFLL 3002 =2+2x0=220 (mod 4) »
i 3002 RAEHE 4 HEER -
2. W10 =1(mod 9) >
102 =1x1=1(mod 9) >
10° =1x1=1(mod 9) -
Fif DL 1089 =9+8+0+1 =18 =0(mod 9) >
#1089 BEHYE 9 B[k -
3. A A10' =-1(modll) >
102 =(-1)x(-1)=1(mod 11) >
10® =(-1)x1=—1(mod 11) »
FT DL 1859=9-5+8-1=11=0 (mod 11)
1859 Fe#e 11 #EER -
4. A k10" =3(mod 7)
102 =3x3=9=2(mod 7) >
10 =3x2=6=-1(mod 7) >
10* =3x(~=1)=-3 (mod 7) °
B LL 12901 = 143x0+2%x9-2-3x1 = 14
=0 (mod 7) - # 12901 HE#: 7 B[4 -
5. B 10" =3 (mod 13) -
102 = (-3)x(-3) =9 =-4 (mod 13) >
10% = (=3)x(-4) =12=—-1(mod 13) >
Fff LA 2431 = 1-3x3-4x4-2 = -26 =0
(mod 13) - # 2431 BEHE 13 BEPR -
6. K &10'=10(mod 101) »
102 =100=-1(mod 101) >

-10 -

10° =10x(~=1)=-10 (mod 101) >
FI L)L 8888 =8+10x8-8-10x8=0 (mod
101) » #7 8888 BEHE 101 B 5 -

7. R BEisE R 4 REERE > AR
W4 BRZBRE R 1~ 2~ 3 BIEEER 0 P
DApt 4 SREETRRAVAEAT 2 6R 8 > Wb JE
Ry 2 WOEET e R R B L E -
HFHETAEE 51 -

B2 - #55E

HERBESEAETS » MHEERER
BN SEHOBE SASHNER - E
B BT EHBIB2AERAREAE - HX
BE 253459 BERENTE > WF
st VAT MAB SRR 7
1~ 13FEERNE BT - WnE 45
&I o 28T - S IMTEETE - FIERAVEL
& NN EM B L e EE -
R ERSMNIE o B0 - (F o B 8 S
U7 W4 PR HERE B 1 BUEERR » B4
A PAF A mod 4 AR -

HEATIL BT EEE - F R sk
o MRS A BT NE Z WA SR A
FOEFIHEGE  BHESHREERE - &
5 FHIEZEBY - &M E—
{E R - e AT —(E B8R 2 RERE?
BAE T BB RUEF /02456
8o By T BEIB « A0 H T —(E %
BH 3 BAE? MEBATARE ¢ HEHIR
WEF 0369  HIRFELRE » fE
ZoE SN - MELEN "TAIE ) BE
e, |



T Ak F S Flic

W2 AEm T A A RE HIRAY[FE ER A
BEEF > A HEAR S EE - £ P
ERHyERAE - Al e U5 (s i BB N > #
Eﬁﬁx%@%%ﬁﬁﬁé C AEEBERERZ
H R R ] > S B A PR B B O R HY
=i

-11 -

h~ 2EXR

FEE ~ I - BRIEH(2013) -
HE(—) (2 IR P EEEH
[ER A ES 2-2~2-3 BEC X HE - 3
b - R EE ek -

- BRI (2013) - [F&RATRINEL -

B R R R O IR Y A RS 8% -

¥ribii - BB E W -
G465 (2009) - %&ﬁﬁm

HEMSTE - £

e

gaﬁﬁ—

2B
1

27 (&
IR iy 4

MELE



